F42MLEBEBNPETARARYTr—RFIERE

= 1A8B (%) i 1A98(A)
& B AR-25| UNLILBEILIVATART)—| 2 E | & |BH AB-25| OBLLBEILIOXTIRT)—| # =
No. * No. +
YIRNSADUY vs BIHYN—X]| 18 LYRRA—X vs@D O B &
T Lr o
9:15~9:20 |-#FE---55 2 n 9:00~9:05 |-f&E---5% o
H 8
920  |-1PERk--15% D 905  |-1PIEMK---15% ; o
N 3 N
N S CPRER- 1043 (B5K) _ar s PRE-- 1053 (5K) 5| B
. - :) . . N
@ 2PEBK--15%) 5 7|\ & 2PIERK 159> x| =
-{KE--10% 7 -iKE--10%
-3PIERK---15% gl | ne 3PIERK---15% =
- (BEK) AlC - (&&3k) Al C
N=YFURX vs BEUNHRFS f‘é 8 @ 0B E O O B =&
11:00~11:05 | - & & ---54 E | B 10:45~10:50 | - $& & --5% R
IN |
11:05  |-1PIERK---15%% - 1050  |-1PERk---15% 2
N N N
o § '1*?&109}(%5’0 /')\ I% ° g {*%10%(%7]() H?? ﬂ#
- . k159 - 2PIERK---15%
® 2PIERE---15%) z g BK---15%) = | =
KA 109} z K& 109
-3PERK---15%) AL #l -3PIERK---15%
- (B&3K) B | D - (B&5K) B | D
AKEPHOER vs BURNINGBULLET | 35 | o ® O B F vs BIH/NHRTS 7
12:45~12:50 |- #& & 54 ;fﬂ 5 12:30~12:35 |- #& & ---5% ® bl
" 1 I
1250  |-1PIEBK---15%% ?-l? N 1235  |-1PEBk---15%3 2
N Y
o S -PRER-- 1093 (E3K) H el o S PRER--103 (BEK) % IEJ
- . b L - . Y-V
® 2PIEBR--+15%) p L ® 2PIERR-++15%) = g
-{REE---105) t AKEE-10%)
+3PIERR---15% W s *3PIERR---15%3 il
- (B3K) A| C - (BK) Al C
WestTAa%> 4 v LiREBrva—% | W | 4| @O BE O OB =
Clm @ ®
14:30~14:35 | - 4% 5% s | g 14:15~14:20 | - @ E---5%)
t
1435  |-1PIEBK---15% 7 E 1420 |-1PEBK---15%3 2
N N
o S -PRER-+ 109> (B5K) ; ol s SPRER-+ 1093 (BEK) B |
3
) . . -2PIERk--+15%
@ 2PIEREK---15% i’ I\\ 73 7 = | =
‘1*?.5"'10%\ 7 R '1*?@»"'1093\
*3PIERK---15%3 & | AL *3PIERK---15%3
- (B&3K) B | D - (BK) B | D
BRENHANFE vs RABRHOEE| g5 | = @D D B E vs D B A
16:15~16:20 |- 4&F 5% % ?ﬁ? 16:00~16:05 | - & ---55) @
16:20  |-1PIERk--15% ’Jl‘ 'l'? 16:05  |-1PIEBK---15% 2
N N
o ( HRER--- 1053 (BEK) HIH| o g HRER--- 109 (BEK) B | B
. | 4| .
® <OPIEBk---15% 2| & | g 2PIEBk---15%) = | =
PKER--10%) = HKER-- 105
*3PIERK---15% gl | & -3PIEBE-- 154
- (BK) A| C - (B3K) Al C
VortexKZE vs AERbOVH— D BE vsO DB E
vV | A ®
18:00~18:05 | - #& & ---5% o | E 17:45~17:50 | - #& & ---5%
V3
18:05  |-1PIEBK---15%3 " 1750 [-1PIEBK:-15% ”| 2
N N
o S -fREB--+ 1053 (BE5K) 120 S (KB 1053 (B85K) BB
- . 154 il - . Bk---15%
® 2PIERK---15%) g " @ 2PIERR--+15%) x| =
~{RER---109 ~RER---109)
-3PIERK---15% W | AL -3PIERK---159)
- (EK) D - (EK) B | D




F42MLENPETARARYT—RFIEXRE

B 1A108(A)
Ne& BRI A B 215 Ubfbitiﬁﬁal/_}w;(‘?'rXTU— =
@0 BKE D D K F
9:00~9:05 |-#&E:--5% o @
3 905  |-1PIERk--15% oo
g . -{REE--10%3 (B5K) | K
= -2PIERK---155 = | =
" 105
-3PIERK---15%
- (E8K) A| C
D0 EE vsOO B E
10:45~10:50 |- & ---55 o @
10:50  |-1PIEBK---15% oo
;; . RER-- 1053 (B3K) B B
B -2PIERK---155 = | =
-{KE8---1053
+3PIERK---15%)
- (EK) B | D




